
 

gf;fk; 1 

 

 
kpUjq;fk; 
juk;: 7 

 
mwpKiwj;Nju;T      180 epkplq;fs; 

 
 

 
VjhtJ Ie;J tpdhf;fSf;F tpil jUf. (5x120 = 100 Gs;spfs;) 
 
1) cyfpYs;s ,irfSs; fu;ehlf ,irf;F vd;ndd;d rpwg;Gfs;> 

tpj;jpahrq;fis fhz;fpwPu;fs;? tpsf;fk; jUf? 
 

2) muq;Nfw;wk; gw;wpa ckJ fUj;J vd;d? ePq;fs; xU Mrpupauhf 
,Ue;jpUe;jhy;> ckJ khztUf;F muq;Nfw;wk; epfo;j;j tpUk;Gk; 
NghJ> vd;ndd;d tplaq;fis ftdpj;J> muq;Nfw;wj;jpid 
ey;ygbahf elhj;jp Kbgpg;gPu;fs;? 
(TIPS: Nkil mikg;G> xsp> xyp> gf;fthj;jpa fiyQu;fs;> ghly; 
xOq;Ffs;> xj;jpif.) 

 
3) Mjp jhsj;jpy; xU Nfhu;itia vOJf? ,Nj Nfhu;itia> 

fz;lrhg;G jsj;jpw;F Vw;wthWk; mikj;Jf; fhl;Lf? 
 

4) fjp> eil (jhsj;jpd; cs;Ns> jhsj;jpd; ntspNa) vg;gb 
fl;likf;fg;gl;bUf;fpd;wd vd;gjid tpsf;fj;Jld; jUf? 
 

5) xU gy;ytpia 2Mk; 3Mk; fhyj;jpy; vOJf?  
(jp];ujpUGil my;yJ fz;ljpUGilia njupT nra;aTk;) 
 

6) fu;ehlf ,irf;fr;Nrupapy; kpUjq;fj;Jld; thrpf;fg;gLk; fUtpfshd> 
fQ;rpuh> flk;> Nkhu;rpq; Nghd;wit thrpf;fg;gLk; tpjq;fis  
(Kiwfis> jd;ikia) tpsf;Ff ? 

 
 
 


